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59 J97-95 H 37 F97 & | @4t yo7 AfHAard & |
J97-97 &: GUSI H [G9I57 8- @Us &, &, T, &, UG I/
GUE & — o7 &I 1 & 20 FglascHid JHR & J97 & | Ie4% 97 1 3% &1 & |

GUE & - 97 G721 G 24 31T TG-FHIT JHR & J97 & | 9% J97 2 371 &7
8 | 57 J¥1 &7 I 40 V5] @ 371w 757 forar ST =T |

GUE T — ¥ G&IT 25 & 29 TY-IFIT JBR & 97 & | FdF T4 8 3H] 71 & |
37 J99] &1 3T 60 V5] & 37ferh 787 7@ ST =Tz |

QU T — J97 &I 30 G 33 F-3FIT JHR & 97 8 | FedH Fo7 5 3H F1 8 |
37 §99] &7 3T 120 Yi5g] & 37ferep 787 @ ST =R |

GUE & — Y97 G&IT 34 T 36 TR/ FId-eRa F97 & 577 &7 37-397 & |
Jed% 974 37 FT 8 |

GV T — Y97 G&IT 37 HIHIET FIVA- MR I97 8 15748 31 9777 & - 37 (a) Flasra
(2 37%) 3137 (b) — YIIT (3 37F) | 3T Jo7 & FT5 37 & |

$G% 3IdIE, & 3 19 gicanad TGl & 178 Biel To7 Fii=d 371G 3TERT
¥l @ T W T I FT 1597 T & | 37 ] % I daeT gheantad wianeT &
ford |

QU &
(sgfermedta ww) (20x1=20)

fou U EE § @ ®o % Sfy=Tie @l giHu iR Ot fasked &1 weA

HIT | 1

. d

II. HEHR

III. wEhrl giufaat

IV. <ui

farheu ;

(A) had 1911

(B) ohad 119 III

(C) ohas 19 III

(D) had 9 IV
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General Instructions :

Read the following instructions carefully and follow them :

(1)
(iv)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

This question paper contains 37 questions. All questions are compulsory.

Question paper is divided into six sections — Section A, B, C, D, E
and F.

Section A — Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

Section C — Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 85 marks. Answer to these questions should not exceed
120 words.

Section E — Questions no. 34 to 36 are Case-based/Source-based questions
with three sub-questions. Each question carries 4 marks.

Section F - Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates
only.

SECTION A
(Multiple Choice Questions) (20x1=20)
Select the formal sources of credit from the given sources and choose the
correct option. 1

I. Bank

I1. Moneylender
III. Cooperatives
IV. Businessman
Options:

(A) OnlyIandII
(B)  Only II and III
(C) OnlyIand III
(D)  OnlyIand]IV
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2. fafcfigd 4 | fore aes sl wid | TR ¥ feeugr waifee 2 2

(A) A
B) fgdas
(C) qdrEeh
(D) =Iqdh

3. Tmkiied # & ®i-81 SgleRtor § wiHd g ?
(A) SR 3Ll Sl TGHT
(B) AR Sl <l G
(C) AR gRI g8 g% W Toamror skt
(D) aEg3l W M, fta e SemH

4. = < wue feu U E | ¥ TR (A) 3R HRO (R) & | @1 HeHl i UleT
3R T faehed &1 939 HIT |
37HIT (A) : T g giem o & U @ ff sriv=nies ard sl
g |
FRU(R) : dohl ¥ ol o4 o (00 RIMYR 3R TR sweremal skl s
gedl B |

farehey

(A (A) IR (R) qHI H&1 @ AN (R), (A) H 8l RT3 |

(B) (A) 3R (R) g1 T& B, AfhT (R), (A) T T = 787 2 |
(C) (A) TEl B, AfkT (R) TeTa B |

(D) (A) 7 §, Wfhd (R) 98l & |

5. T BIC U TG H Th [hHH Td o HIEHR § I HIHh sATS G 9L K0T Al &,
iR 98 38 99 TR H T&H 31 8T | ITTE IR I8 S ¥ HH AN A W
O AT @ | 98 FR-R AR FIEHR TR S QAT I I FHAT 3 |
39 R HIEAT H Sk <hl YfHeh! 1 HaH 3T=B[ JUH (HTIRGd H & SiH-91 8 ?
(A) S Teh FgHHI SRUCIAT o &9 U hrdf Hidl 2 |
(B) ek RIS <h! fedfa sl glaygmee s 8 |
(C) o a&qedl &1 3fua ITEH-JeH gHfTad iar @ |
(D) < fRE™ I U F SR |
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2. Which one of the following sectors has the highest share in employment
in India ? 1

(A) Primary
(B)  Secondary
(C)  Tertiary
(D) Quaternary

3. Which one of the following is included in ‘liberalization’ ? 1
(A) Promoting trade barriers
(B) Removing trade barriers
(C)  Controlling the other country through trade

(D) Increasing import, export duty on goods

4. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1

Assertion (A) : Rural poor families are still dependent on informal
sources of credit.

Reason (R) : For obtaining loan from banks, collateral and special
documents are required.

Options :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)1is true, but (R) is false.

(D) (A) is false, but (R) is true.

5. In one of the small villages, a farmer borrows money from the village
moneylender at a high monthly interest rate but is not able to repay it
back. Next, he borrows it from a bank at a lower interest rate. Gradually
he earns and pays back the loan to the moneylender and the bank.

Which of the following best describes the role of the bank in this credit
situation ? 1

(A) The bank acts as a cooperative lender.

(B)  The bank facilitates a debt-trap situation.
(C)  The bank ensures a fair exchange of goods.
(D) The bank saves the farmer from debt-trap.
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V)

6. TR A HYT I IIfew mw g | 21 huAl hl dfeu 3 gt foehed o1 ==
I |

FI7] : WAfgand 39 fafid =IaqmE § Eishd ®9 F IEH ¢ Wl 8 TR S,
SRR, Tehicl, Segeh aT favafaemer fiems i g far &
7 |

FYTII : s e f1 uodifaes st i aoHdifas Masd 9
TeSI-eh Sfta # AfgeATeTl <hl fHepT hl IGIH H F&TIdT ol 3 |

forerea :

(A) %99 I Eal 3, wfehd 11 7erd 2 |

(B) w99 I T/Id &, feh 11 T&T 7 |

(C) 1T I gl Ta 8 AR 11, I 1 Tl e 2 |

(D) @A 19 II gHi 98l &, <ifehd 11, I =hl T&! ST g7 2 |

7.  UNd % AHYH % AR FHfIRad 4 9 SH-E Ueh TIHd HINT § ?

(A)  Wegd

(B) Tl
(C) STt
(D) TSI

8. = @ wem fiu MU B | ¥ fimem (A) 3R HRW (R) | T AT I Ul
3R T faehew 1 == KN |

BT (A) : WRA H TEEATT SHEAT hl YA 2 |

FRU(R) : I8 YR <hl G HHTRh TR Wimifees fosqdaist sl g9e 9 |
Tq B |

forerea :

(A (A) 3R (R) g @&t & 3 (R), (A) N T A 7 |

(B) (A) 3R (R) gHI T&t &, <tk (R), (A) 1 Hel =amean 787 2 |
(C) (A G& g, Afh (R) Teid 2 |

(D) (A) T &, AT (R) 981 2 |
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6. Two statements, I and II are given below. Read both the statements and
choose the correct option. 1

Statement I: Women are now actively contributing to various
professions including roles as doctors, engineers, lawyers,
managers and university teachers.

Statement II : Political expression of gender division and political
mobilization helped to improve women’s role in public life.

Options:

(A) Statement I is true, but II is false.

(B) Statement I is false, but II is true.

(C) Statements I and II are true and II is the correct explanation of I.

(D) Statements I and II are true, but II is not the correct explanation of I.

7. Which one of the following is a scheduled language as per the
Constitution of India ? 1

(A)  Bhojpuri
(B)  Garhwali
(C) Nepali

(D) Rajasthani

8. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option. 1

Assertion (A) : Multi-party system has been adopted in India.

Reason (R) : It is capable of accommodating all the social and
geographical differences in India.

Options:
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).

(C) (A)1is true, but (R) is false.
(D) (A)is false, but (R) is true.
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9. YRA % gAd AR F TSI gl o Far o e ffafgd & 9 sH-a1
hqH 31T ?
(A) TA-9GA I Uehd o AT Afag Feng= fopa |
(B) IWIAN oh! I9Y-I o GRI HATIITEH WHE 1 S AT BT |
(C) 3IEfigaRl ! AYY-TF &% G AU FURT T S A1 I |
(D) |l Al Bl WATSHS AT HUAT 3T 3R e W afamd &1 T |

10. YR gfagd # go-foear 8 sefig efdiaa geumt = afer iR a@&6
farehed 1 =89 ShifaT |
[ YA Tsg A fordt oft of =1 b o erfieer &l foham 2 |
II. dfgge gt auieet &t el ft gd &1 9o & 3R J=9R & 6

HATHTE! &l & |

[II. gfga gd & YR W fFu I a1t fohet T & Hewd i dearfieh
YA hLar 2 |

IV. g diftieh TgRl § THHdT HTad i o o ImeE i giides Amai
T @ < T AfUhR a1 B |

ferepeu .

(A) had L1149 IIIHE & |
(B) whadd I, 119 IVHE 2 |
(C) had I, 1119 IV U 7 |
(D) ohad IL 119 IVEE 2 |

11. YRA H fqurh ifusrl & dean ¥ Fafed qod I9Yh [dehed Sl @b i |
YRAT Gl 7 fawr

(A) g9 g — i g s

(B) T gl —  Yfer® 9 S

(C) aHadl H=h - S dFEER

(D) RS fama - HOge WS 9 AR
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9. Which one of the following steps has been taken by the Election
Commission of India to reform political parties ? 1

(A) Amended the Constitution to prevent defection.

(B) Candidates will have to give the details of criminal cases on
affidavit.

(C) Candidates will have to give details of their property on affidavit.

(D) It has been made mandatory for all parties to conduct
organizational elections and file income tax returns.

10. Read the following provisions regarding Secularism in the Indian
Constitution and choose the correct option. 1

I. The Indian State has not adopted any religion as its official
religion.

II. The Constitution gives freedom to all the citizens to practice and
propagate any religion.

III. The Constitution declares any kind of discrimination done on the
basis of religion to be legal.

IV. It gives the government the right to intervene in religious matters
for ensuring equality within religious communities.

Options:

(A)  Only I, II and III are correct.
(B)  Only I, IT and IV are correct.
(C)  Onlyl, III and IV are correct.
(D)  Only II, IIT and IV are correct.

11. Choose the most appropriate option regarding the division of legislative

rights in India. 1
Subject list in Subjects
Indian Constitution
(A) Union List — Defence and Commerce
(B) State List — Police and Agriculture
(C) Concurrent List — Forest and Communication
(D) Residuary Subjects — Computer Software and Trade
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V)

12. = @ %o 19 11 fau 7u & | SHT el i dfeu R Tft fashed 1 ==H
I |

FITI : Gl 1 SIN AlhdlEeh Faediati & fou i 3 |
Fo7 11 : 399 fafa gl Tqgl & 9 ZohUa i 9T &l ®H HE |

el fieldl 2 |

farmey

(A) HF 198 g, Aferd II T7d 2 |

(B) ¥ I TAd B, i 11 H&l 8 |

(C) U1 IIgHI Hal & 3R 11, 1 h! T =1 ¢ |

(D) HYF 19 II T T& & aAferd 11, I st Tt e 787 2 |

13. T=fafea # @ SH-91 YRG 1 98 981 SiedEe Ides 9 8 2
(A)  TERTE (B) 9N@s
(C) TS (D) ofifssm
14. ‘Sg fgu faa yumelt’ Fefafea @ @ fovm U9 o v=ifera g 2
(A) qHEHTg (B) ufeem s
(C) THTEH (D) anfesm
15. &Y I e @Y 118 HIfe TR T8 fosed &1 =9= Hifu |
&ad 1 a4 11
(T 3 (77577
1. RIS a. T Y
ii. oW wisie b. Em
i, gered c. IAES
iv. EIBEUT d. ufyrem s
fererew :

(A)  i-a, ii-b, iii-c, iv-d
(B) i-d, ii-c, iii-b, iv-a
(C) i-c, ii-b, iii-d, iv-a
(D)  i-b, ii-c, iii-d, iv-a
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12.

13.

14.

15.

Two statements, I and II are given below. Read both the statements and

choose the correct option. 1
Statement I : Division of power is good for democratic systems.

Statement II : 1t helps to reduce the possibility of conflict between
social groups.

Options:

(A) Statement I is true, but II is false.

(B) Statement I is false, but II is true.

(C) Statements I and II are true and II is the correct explanation of I.

(D) Statements I and II are true, but II is not the correct explanation of I.

Which one of the following is the highest ‘bauxite’ producing state of

India ? 1
(A) Maharashtra (B) Jharkhand
(C)  Gujarat (D) Odisha
In which one of the following states is ‘bamboo drip irrigation system’
prevalent ? 1
(A) Tamil Nadu (B) West Bengal
(C) Meghalaya (D) Odisha
Match Column I with Column II and choose the correct option. 1
Column I Column I1
(National Park) (State)
i. Kaziranga a. Madhya Pradesh
ii.  Jim Corbett b. Assam
iii.  Sunderbans c. Uttarakhand
iv. Bandhavgarh d. West Bengal
Options:

(A)  i-a, ii-b, iii-c, iv-d
(B)  i-d, ii-c, iii-b, iv-a
(C) i-c, ii-b, iii-d, iv-a

(D) i-b, ii-c, iii-d, iv-a
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16. feu U fo =1 2fgu | oo O v S 9o =R Feafafea 5 9 e i

&k o STl 3TTdT & ?
(A)  TTeftes (B) fgdrares
(C) qdraeh (D) =g

Fie:  [HAFICTRIT 397 HacT glteariaa gagnteal & 77 597 el 16 & &7 W& |
‘B <t W’ referaEen & frmfafga # 9 fohg &=k & siama ot 8 2
(A)  wufie (B) feefrrep
(C) qdreh (D) =g

17. T som 61 qfd o e @t fasheq &1 =99 HINT |

196 @t & MY H, FH Ffeag UER H A HwAw . d
‘TR e A ATHSRAT TE |

(A dfear T

(B)  Twged ool

(€)  dws farg

(D) eyt gt
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16. Look at the given picture. The work being done in the picture comes

under which one of the following economic sectors ? 1
(A) Primary (B) Secondary
(C)  Tertiary (D) Quaternary

Note : The following question is for the Visually Impaired Candidates only,
in lieu of . No. 16.

‘Floriculture’ comes under which one of the following sectors of the

economy ? 1
(A) Primary (B) Secondary
(C)  Tertiary (D) Quaternary

17. Choose the correct option to fill in the blank. 1
In the beginning of the 19t} century, a girl married in a very

orthodox household wrote an autobiography called ‘Amar Jiban’.
(A) Pandita Ramabai

(B) Rashsundari Devi

(C) Tarabai Shinde

(D)  Kailashbashini Debi
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18. Tffgd =TT I HIAThiHG A H FERAd Hiv 3R FqEl foehed
T T |

I. g3 U Rgarsa afufa =1 Teq

II. SfAATaTT 90 gAhIe

[II. S REI gcamwig
IV. 3THgIN 3TEIA bl 198 ol
ey ;

(A)  LILII IV
B) ILLIV,III
(©) LIIL IV, III
(D) IIL IV, 1L I

19. Tfafgd ® @ a1 96 g wRa 4 39a a1 wm qnr (e ®¢) i
fafay smarett & o feemsti d e ?

A) Teg wH
(B) 4TS 9v
(C) dig &
(D) 9 gd

20. 1815 # ‘foun e <kl e f=rferfad 5 & fopga < oft 2

(A) TTHH b HA@

(B) 3 TH
©) Taferm-aem
(D)  37ier a9 foeareh
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18. Arrange the following events in chronological order and choose the

correct option. 1
I. Formation of Khilafat Committee in Bombay
II. Jallianwala Bagh Massacre

III. Bardoli Satyagraha

IV. Withdrawal of Non-Cooperation Movement
Options:

A LIL I IV

B) ILILIV,III

(C) LII,IV, 111

(D) I IV,II I

19. Which one of the following religions emerged from eastern India and
spread in several directions through intersecting points on the ‘silk

routes’ ? 1
(A) Hinduism

(B)  Christianity

(C) Buddhism

(D) Jainism

20. Who among the following hosted the ‘Vienna Congress’ in 1815 ? 1
(A)  Chancellor Duke Metternich
(B) Ernst Renan
(C) William I

(D) Otto von Bismarck
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21.

22.

23.

24.

25.

26.

27.

28.

29.

Qis &
(arfar wg-3wdE ) (4x2=8)
(a) “GfFS Y=: T qAT HRTGONG IgHEl § Had @ 17 Serstr gfed 39
A hl TS HIVT |
AAAT
(b) “HEErE S # ft faene wen § wiie 9w S @ 1”7 3ergtr 9fgd 39
e hl T HIT |

gicigd] Ydred] 8 Y8 YR IUHEEY hl SAeh Aedeh & Ydig H el
feafa =1 off 2 == hifs |

sfictehT 1 ST §ATaE 1 quiF HIfTT |

o | foesft o = dg@m & & iU 9d @R g 33 MU kAl
fargermor fifsre |

Que T

(g3 w9 ) (5x3=15)

IAHAE THT B gROiar o1 fos faeema o fou s1fHem = =1 ™ 8 2 St
Higd saTE Iy |

WA Ty sl G g hl fohral oI GRINATSI T JUF HINT |
TS 1Tceh Sl o Tehral ol ST ohl (a9l hifST |

9 IEgEl w1 9uE vt e g sfcem 9 et wWEn w1 gHTYH
fopam |

(a) GfoHT ST AGRIAT H Higarlell i Y{Her! i 3TN Higd TS

HIT |

CEI
(b) Sl AT & R URAR olieh hemali 3T Tdtehl § Tsgare & fe=m

o o N o [aNaN
ﬁ [en Henlt Hvldd (o] ? 3QIZUTT Hlad AT <h[[NT |
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SECTION B
(Very Short Answer Type Questions) (4x2=8)
21. (a) “Minerals occur in igneous and metamorphic rocks.” Explain the
statement with example. 2
OR
(b)  “The ocean waters contain vast quantities of minerals.” Explain
the statement with example. 2

22. Why was the Indian subcontinent central to the flows of the trading
network before the sixteenth century ? Explain. 2

23. Describe the ethnic composition of Sri Lanka. 2

24. Analyse the steps taken by the Government of India to promote foreign
investment in the country. 2

SECTION C
(Short Answer Type Questions) (6x3=15)

25. Why has the issue of sustainability become essential for development in

present times ? Explain with example. 3
26. Describe any three features of Kharif season of Indian agriculture. 3
27. Analyse any three functions of political parties. 3
28. Describe three provisions through which Belgium solved its problem. 3

29. (a) Explain the role of women in the Civil Disobedience Movement,
with examples. 3

OR

(b) How did the Indian folklore and symbols strengthen the idea of
nationalism during the twentieth century ? Explain with
examples. 3
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30.

31.

32.

33.

34.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Qus Y
(e 3=t weA) (4x5=20)
SIETE ShIfd o G AN o ste AFfgsh T8 i WIEAT Ug1 & &
o it smifaestieat g foru e 3um <kt same FifSw | 5
AT
AIHTSIATG 8 98 L UG 1914 H fohd TohR W ohl WRTEUET shi AR
o TR ? SRS <hifu | 5
HIEfiTeh TGO <l HH LA o IURT <hl IGTELUN Higd AT I | 5
AT
fordt 231 <hi anfder 3afa T wepr fafimior 3= & fowmma gro i
St 3 2 3ST8WN Tfgd AT shifv | 5
anifefer Tfafafert & Aesies wa S &5 | 37at Tose hifay | 5
AT
afifefer Tiafafery o Gvidd U THfed &5k | 3T T hIfVT | 5
STIHFAT 3N TRIS I HH B H ARhad <hl Y(Heh! hl eI Afgd
ST <hIFST | 5
AT
Aehds fohT JohR Tsh 9Y I 8 ? 3TN Higd I iU | 5
“us &
(hE- AT /| - SATATR 99 (3xd=12)

fau 7w &t = ufeu 3R 38k i QU T Tl % IR ST

TgHI giufaat 9@ =l

Sehl ok SAATAT TTHIT &3 H TEd KT I Ush 37T Gid Tghil aiufaat @ |

FEhIl AT o FGEI 319+ TSI I S &l H FgAN o 0L Tohd id 3 |
% TR hl TEh @iufeat @ya 8, @ — feraml, e e i weed

SCATIG <hl TEhII AT | Fh Fghil AHI FMYL o ToGh T T1d H M
HA B | 39h 2300 TROM e B | U STU4 TEW ¥ THT AT ohidl
g | 39 SMT ¢St Sl FROMYR AFd U, 39 TRl GHfd 4 S & F81 RO I
T 2 | 38 ISl 1 SWAHTA §GEA1 hl el o oh folq ToRT ST 8 | I8 R0l

I o &G sl hl GEU G I [ohaT ST Hehdll @ |
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30.

31.

32.

33.

34.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

SECTION D

(Long Answer Type Questions) (4x5=20)

Explain the measures introduced by the French revolutionaries to
create a sense of collective identity amongst the people during the

French Revolution. 5
OR
How did nationalism aligned with imperialism lead Europe to
disaster in 1914 ? Explain. 5
Explain the measures to reduce industrial pollution with
examples. 5
OR
How is the economic progress of a country measured by the
development of manufacturing industries ? Explain with examples. 5
Explain the differences between public and private sector of
economic activities. 5
OR
Explain the differences between the organised and unorganised
sector of economic activities. 5
Explain with examples the role of democracy in the reduction of
inequality and poverty. 5
OR
How is democracy a legitimate government? Explain with
examples. 5
SECTION E
(Case-Based/Source-Based Questions) (3x4=12)

Read the given source and answer the questions that follow :

Loans from Cooperatives

Besides banks, the other major source of cheap credit in rural areas

are the cooperative societies (or cooperatives). Members of a cooperative
pool their resources for cooperation in certain areas. There are several
types of cooperatives possible such as farmers cooperatives, weavers
cooperatives, industrial workers cooperatives, etc. Krishak Cooperative
functions in a village not very far away from Sonpur. It has 2300 farmers
as members. It accepts deposits from its members. With these deposits as
collateral, the Cooperative has obtained a large loan from the bank.
These funds are used to provide loans to members. Once these loans are
repaid, another round of lending can take place.

32/5/3-15
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Y TFHRI HHIA DY IR @, Tl TAT FN SATIR FH, TSAT Tehe,

T T AR 3= fafia yehr & @= o fofw =or gaan &t 7 |
(34.1) ‘¥ UgHRI FHIGAT 9 TG hl RO YGH i 6 [T 99 Hd

3qAeY A & ? 1
(34.2) ‘Fuh HERN WUGEAT U4 TGl HI T8 YR o U YgH HLd

87 1
(34.3) U wEepry wfufaal wfior &5t § i1 ave & 2 2

35. fau wu €ia =l ufeu 3R 3ges = fey o el o I i
BUTE WA AT

SFH STTEed fgaehl 7 1780 W F77c7 T M Ueh dTwdligeh Urehl I
qared & fopan, & gg &1 f afeariva foram, & fpet & Tofe 3uaisy T
TeETReh g, St fohet & quma ® € 7 | Il a8 ulent wra § 39 =dm
el SAaRE I | ST, et 7St 3w off, TR 38 31+l Taaadr W
AN ot | fEeeht e wR famram sar on R gt i fosht @ 2 svagr ot
A 9 | ifehd T1Y & 98 IRA § HRRG IS U RIiE § Jet Taarsit
ff BAT o7 | $HH S Rt Ta Sa aid gfee® J fgachl T gehgn T
oo, iR UH 9l T-UTd STWEN & JhRMH i Acdigd il IE
oo 1 siafafes TS 1 Bfd W g gHAl § SEh! 18T o T | SNgdl |el
% 3d doh H3-EHl TA-UEhE B ol | $© fEgearl Hi 0 A@ER B
Y | UH T B Ul A ST THAEET UF o el @ TR W= gl
YeRTIRId 77T 972 |

(35.1) SFg JMH okl g gutfed ubem ‘g7er 792 fopg wmeT ®

TRIRIG g8 ? 1
(35.2)  SFH ANTEEH Tgaehl T HheHT F1 Tohall TIT ? 1
(35.3) 1780 % Tk oh <A fohd TR i TicHTRd fohal T ? 38 1

TicdTed TR =T 2 1+1=2
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Krishak Cooperative provides loans for the purchase of agricultural
implements, loans for cultivation and agricultural trade, fishery loans,
loans for construction of houses and for a variety of other expenses.

(34.1) How do ‘Krishak Cooperatives’ secure funds for providing loans to

their members ? 1
(34.2) What are the different types of loans that ‘Krishak Cooperatives’

offer to their members ? 1
(34.3) Why are such cooperatives desirable in the rural areas ? 2

35. Read the given source and answer the questions that follow :
Print Comes to India

From 1780, James Augustus Hickey began to edit the Bengal Gazette,
a weekly magazine that described itself as ‘a commercial paper open to
all, but influenced by none’. So it was private English enterprise, proud of
its independence from colonial influence, that began English printing in
India. Hickey published a lot of advertisements, including those that
related to the import and sale of slaves. But he also published a lot of
gossip about the Company’s senior officials in India. Enraged by this,
Governor-General Warren Hastings persecuted Hickey, and encouraged
the publication of officially sanctioned newspapers that could counter the
flow of information that damaged the image of the colonial government.
By the close of the eighteenth century, a number of newspapers and
journals appeared in print. There were Indians, too, who began to publish
Indian newspapers. The first to appear was the weekly Bengal Gazette,
brought out by Gangadhar Bhattacharya, who was close to Raja
Rammohan Roy.

(35.1) In which language was ‘Bengal Gazette’ edited by James Augustus
Hickey published ? 1

(35.2) Why was James Augustus Hickey persecuted ? 1

(35.3) Which newspapers were encouraged during the 1780s ? Why were
they encouraged ? 1+1=2

32/5/3-15 Page 21 of 27 P.T.O.




V)

36. feu u &g =1 4feu 3 3sh Hfiw feu oy & 3w S

HETEAT T TR0

A T W aed dlieh & Y TR ! Jehleld 1968 H Fo7e

3% U7 A I | AT 1974 H IHE 7 9 [&dh LT 397 g2 |pT | 39
o 9@ TiTefiSht o guM Sl T 9R TR & Segfa 1 B | 1987 § Freecis AR
e gr dfves TR W G619 S0 § qargr IegH R e | 3| R
‘Faq "o faerE’ (Sustainable Development) 3T T J&qd 3R
TETE T 61 FehTerd sl | I8 R s § 577 @rem 9197 (Our Common
Future)?ﬁ%ﬁw%wiﬁw&ﬁ@ |3€mﬁﬁ@3ﬁrn€a{ﬁ
e fen € S, Seia § 1992 § ARG gedft sred g foram mm |

(36.1) & QU foehm w1 319 Tve hINT | 1
(36.2) TSie1-21" ol foh TSI TriieH H Telieha ek T 2 1
(36.3) TEHTH o Tehral al TRUIHI oh! SATEAT ST | 2x1=2
TUE °
(aTafers wivTe- e ued) (2+3=5)
37. (a) TCU T 9wRa & TSHITde W@I-AFRS (8 27 W), § & TAFT Hl A’ 3R

(b)

32/5/3-15

‘B o ®Y H 3fhd foram T B | Ffafaa el h ggmar 9 3=
qEaT-U 37 39k Tal 910 37k ey @i 75 W@rett w fefgu

A, 98 T S8l 1920 H WRA TS hild 1 AR g7 o | 1

B. 9% T gl Mlsl 4 F9eh i arer o | 1
WRA & 3 ToHIfde @-qHrs § =faiga & 9 fegl @7 =i
ST Toml | RISy 3R 3 9™ AR : 3x1=3

(i)  SATSAT — g 3TTEh hl @M
(i) A THEY — A ot G

(iii)  HTSAT — IHE FHgT Io

(iv) HHHaaRRT — STAUSE Ay ua-
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36. Read the given source and answer the questions that follow :
Conservation of Resources

At the international level, the Club of Rome advocated resource
conservation for the first time in a more systematic way in 1968.
Subsequently, in 1974, Gandhian philosophy was once again presented by
Schumacher in his book Small is Beautiful. The seminal contribution
with respect to resource conservation at the global level was made by the
Brundtland Commission Report, 1987. This report introduced the concept
of ‘Sustainable Development’ and advocated it as a means for resource
conservation, which was subsequently published in a book entitled Our
Common Future. Another significant contribution was made at the Earth
Summit at Rio de Janeiro, Brazil in 1992.

(36.1) Explain the meaning of sustainable development. 1

(36.2) In which international conference was ‘Agenda-21" accepted ? 1

(36.3) Explain any two outcomes of the Summit. 2x1=2
SECTION F

(Map Skill-Based Question) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the

lines drawn near them :

A. The place where the session of Indian National Congress
was held in 1920. 1
B. The place where Gandhiji broke the salt law. 1
(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
(i) Bailadila — Iron ore Mines

(ii))  Namrup — Thermal Power Plant
(iii) Kandla — Major Sea Port

(iv) Meenam Bakkam — International Airport
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Fig:  [AEliEd 39 #ac ghearfaa ahenfdal & 7 397 §&91 37 # € W

g1
fe=g7 ier 7941 & 3 1T | 5x1=5
(37.1) 39 TST &1 99 faRgu Sr&f 1927 § R TS HiUE &1 ARG

BT AT |

(37.2) 3 TIH o1 AW TR g MESH 4 TH7 P dqreT o |

(37.3) 39 U¥ & 9 failau SI&T SdATfS ig 3%k il @ f&rd § |
(37.4) Torm U= ® AMEY aTdE St a9 o g 2

(37.5) 38 UST ol A IRGU S8l Hhiee Tgg 9 0d 7 |

(37.6) 38 U &1 91 faRaw gt fiamearn STaisd arg uoH fera § |
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Note: The following questions are for the Visually Impaired Candidates
only, in lieu of . No. 37.

Attempt any five questions. 5x1=5

(37.1)

(37.2)
(37.3)
(37.4)
(37.5)

(37.6)

32/5/3-15

Name the state where the session of Indian National Congress
was held in 1927.

Name the place where Gandhiji broke the salt law.

Name the state where Bailadila iron ore mines are located.
In which state is Namrup Thermal Power Plant located ?
Name the state where Kandla sea port is located.

Name the state where Meenam Bakkam international airport is
located.
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Political Outline Map of India
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